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1. From the graph of function y = f(x) in the figure below, find the following limits.
NNATNVBINIATY y = f(z) Afmual® smdwesdladalyd
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2. Compute the following limits. s vwmaadadeluil
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3. Is the following function continuous at = =2 ? Worsuaalii daflasdl 2 =2 nialy
vz+2 , T <2

2 -2 , x> 2
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4. Let y = 2z + 5 be the equation of the tangent line of function y = f(z) at = = 2.
Then f(2) = i and f/(2) = oo :

fuual’ y =22+ 5 AeRUNIFUTURNFVRINIATY 3y = f(z) A =2
22109 @1VBS F(2) = oo WREAIVDY £(2) = coeeeeeeeeeeeeee e,

5. Given the graph of y = f(z) below, plot the graph of f’(x) on interval [—1,2].

fmnald y = f(z) InmWdegamas sadisunsmoes f/(z) uwss [—1,2]
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6. Given f(z) =42%+1 ,find f/(z) using the definition of derivative.
Mauald f(z) =422+ 1 w1 f/(2) lagldfiaw
7. Let f(z) = |z — 6]. Give an explanation whether f’(6) exists.
fnald f(z) = [ — 6] 2RI £/(6) midlanseld wnzivgle
8. Find point(s) that a horizontal tangent line of the graph z2+ 2y +y? = 3 intersects the

line y = —3z. RINNIPATEUFNARN T UUINOUVBINTIN 22 + 2y + 3% = 3 AANUIFUAT y = —3z

cos(m+h) +1

9. Use a derivative to evaluate lim
h—0 h
aslFouiuslumngn lim S5 ER +1
4 h—0 h
10 Given f(x) =tan~!z, derive the formula gty = !
' B ’ dx o 1+4a?’

o 19/ —1 A d -1 1
MABALA f(z) = tan™" = JIUFAMINNIVBIFAT ——tan™ == ——
¥ dx 1+z
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11.

12.

13.

14.

15.

Find f/(z) of the following functions. 24%1 f/(x) voararaudallil

5+sinx
11.1. =
fla) =22
11.2. f(x) = Vad +tanx
2x
11.3. fz) =In (g)
11.4. fz) =ah®
11.5. f(x) = cos™'(1/)
. e ey Py ¢ * v &y
Given y = ze”, find -3 o AUy = ze® 29M i

Suppose a right circular cylinder’s radius (r) is increasing at the rate of 3 cm/sec
while its height (k) is decreasing at the rate of 5 cm/sec. How fast is the cylinder’s volume (V')
changing when its radius is 10 cm and its height is 20 cm? [V = 7r2h]
aun@ly Sadvoamsinrzuannanasmasindn 3 wufwasdaiuwi lusnzfianugeiidianas
frudan 5 udwasdedwnd Usuiasneimisnzuenilasundaseddladansinszuendsad 10
LIUALNAT LAEANGS 20 LTUALNAT [V = 7r2h]

Use an appropriate local linear approximation to estimate the value of (9.98)3.

lmsdrzanadasuwaniznnmanzaulunisUssunmaias (9.98)3

The side of a cube is measured with percentage error within £0.5% . Use differentials to estimate
the percentage error in the calculated volume.

lunisiaduaasgnuian SaRanatnanmivialainiu +0.5% asldaniasmBaalunisyszaim
ARawaasouazlunisdwimsuiasvesgnuian
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16. Fill in the blank with the correct answer.

WLHUaaURI UL I

T—r—00

17. Evaluate the given limit. 33UL&AIIDNITHIA1AN G

171 lim 3zlnbx

z—0t

17.2 lim !

r—0— Sinx

1

x

17.3 lim (z+ e®)%/®

T—r+00

>

18. AMUANTNVBIBYNUTVEY f(z) WWABNTNTBY f/(z) A9%
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o Tralaf F JuWerTuiia ..
o Taalafn F HuNeituaa ...

1 t:lI o Y a [ = 6
o A1z AIAAAAGIEARUINT ...
o @1 2 NHAAAMIEATURNT ...

o Tralaf f Iuldenae ...

o Talan £ Juldsadn ...
o @1 2 vaIgALABULIIMINNG
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19. suadminlaniruzasgluudazdadalUidoansaef 99ugnamuessnnugIvasszauihn
y WaunuLel ¢
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20. sgnaednavilddanude ldiiuie
20.1. t 1 Jud1inna ua7 921ingadga/gIgARNRNTT & = 1
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20.2. o f/(0), F/(1), £'(2) < 0 ud? f anduwdentuaauuiag [0,2]

M

20.3. @ f7(1) =0 ua? f Hgaudowdn = =1

A

204. 4 f § 2 =1 Jwduhnuuwas udr (1) asmenladle

M
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21. 1% duisrsunfantfasdalus
a. lim f(z)=+oco Waz lim f(zr)=2 U8z lim f(z)=3
z——1— z——17t T—r—00

F(=2) =0, f(=1) welaila, £(0)=1,f(1)=0,f(2) =-1
fi(z) >0 UnDI9 (=2, 1) ez (2,400)
f'(z) <0 UNTI (—o0, —2) WA (—1,2
o f(2) >0 UwBN (=2, 1) waz (0, +00)
f"(x) <0 UNTI (—o0, —2) WAz (—1,0)
WY f

b
c.
d.
e
f.

22. asdiddaainisanalaanuiiianed andasinldgigareaney uas whuwwulddeiaton
lagdi§un1an1sduasgy

IC_ 1

# 2

3 wns

1
=

WHIIAITPNIRNNNIINGA X 1rila awuwantiy XY Fvasvildenasdiaisldinaionige
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